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1. S Y (Current Ratio)—3e U@ §ed1 & =1, wefwrdl o
WW%WW@W%!@ m&sﬁawﬁaﬂm (Working
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a@mﬁm‘i‘ (Current Assets)

1] AT (Current Liabilities)

F’Wﬁﬁﬁ (Current Assets) T8 =Te] gt (Current anblhtles) q
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Current Assets = Cash in hand + Cash at Bank + B/R +
Debtors + Stock or Inventories (Stock of Raw Material +
Work-in-Progress + Finished Goods) + Short-term Loans and
Advances + Current Investment (Marketable Securities, Short-term

Investment) + Prepaid Expenses + Accrued Income etc.

Current Liabilities = Short-term Borrowings (Bank Overdraft)
+ Sundry Creditors + Bills Payable + Unclaimed Dividends +
Outstandmg Expenses + Provision for Tax and other short-term

provisions.
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] A9 (Currént Ratio) =

Liquid Assets
Current Liabilities or Liquid Liabilities

Liquid Assets = Current Assets — - (Stock + Prepaid Expenses)
quuld Liabilities = Current Llablhtles - Bank Overdraft

Liquid Ratio =
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Absolute Liquid Asscts
Liquid Liabilitics
Absolute Liquid Assets = Cash in hand + Cash at Bank +

Marketable Securities |
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Absolute Liquid Ratio =

Cash in hand + Cash at Bank

" Current Assets
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, (Turnover or Activity Ratios) ,

1. T 3Mad UM (Stock or Inventory Turnover Ratio)—3€ 39
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Stock Turnover Ratio =

Cash Ratio =

Cost of Goods Sold 6r Net Sales
Average Stock
Cost of Goods Sold = Sales — Gross Profit

= Opening Stock + Purchases + Wages +
Direct Expenses — Closing Stock
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(iii) ' g qA A @ H #d &R W % T (Stock of Finished Goo 1s) A € § |
. 2. TR FmEa FquE (Debtors or Receivable Turnover Ratio)—3¢
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3 Net Credit Sales
Debion: Surmovgy o = Average Debtors/Receivables

Net Credit Sales = Sales — Cash Sales — Sales Returns

3 New W It (Average Collection Penod)—‘m e arafy
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Average Debtors/Receivables
Net Credit Sales x 365 or 12

4. R 037 I A (Creditors or Payable Turnover Ratlo)—
39, SN %I (Credit Purchaseé 39 (Total °

Pavables) %aﬁamwﬂﬁm 2 | TG T mmww
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Average Collection Period =

. _ Net Credit Purchases
A Creduocs or Payable Tarnover: = Average Payables (Creditors + B/P)
£XC *

Net Credit Purchases = Total Purchases — Cash Purchases -
Purchases Return

Average Payables :
_ (Opening Creditors and B/P) + (Closmg Creditors and B/P)
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5. 3 Iafa (A t Period)—3d
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¥afy = AR @ Tfaeitedn (Credltors Velocxty) ’ﬂ EFE'?T
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Everage,Payment Period = Ave;aegtec(riégilﬁsfg:g;blcs X 365 or 12




Net Credit Purchase=Total Purchase — Cash PurchascA—— Purchase Returns

6-“’“‘3 & 3 Working Capital Turnover Ratio)—48
et oy o (Working Capie Ty

T A
_ . e < r Net Sales
Working Capital Turnover Ratio = Ll (v’v((),?gisnzo(l"ilgnal

Working Capital = Current Assets — Current Liabilitics
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7. Wil F M UM (Assets Turnover Ratio)—38 T § 9&A
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(30) F& FX 3AE4 (Total Assets Turnover)
_ Net Sales or Cost of Goods Sold
- - Total Assets
(@) =t T a4 (Fixed Assets Turnover)
| _ Net Sales or Cost of Goods Sold
- Fixed Assets
() 91§91 3Mad (Current Assets Turnover)
e - _ Cost of Goods Sold
A ~ Current Assets

() TUSESRAT AU (Profitability Ratio)
(T) Tt R et werEsdar A9 (Profitability Ratio based on Sales)
1. %A M9 A (Gross Profit Ratio)—3® {UIq e &9
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) Gross Profit
Gross Profit Ratio = Net Sales X 100

7 @9 3@ (Net Profit Ratio) U T R |
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. _ Net Profit
Net P roﬁ'f Ratio = ‘NetSales < 100
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' __ Cost of Goods Sold + Operating Expenses
Operating Ratio = i Salc?s x 100

4. T U (Expenscs Ratio)—;aiﬂ 3Ta fafs= 41 & S fea
¥ T TET A © | §F §9 §—

: icular Expenses
Particular Expcnses Ratio = oL Lo X 100
Net Sales

Te ffe® oo Freifea & oo o—

Malerigl Consumed % 100
Net Sales

Manufacturing Expenses

— X 100
Net Sales
Administrative Expenses

X
» Net Sales : 100.
(iv) Selling and Distribution Expenses Ratio . :
_ Selling and Distribution Expenses

(1) Materials Consumed Ratio =

(ii) Manufacturing Expenses Ratio =

(iii) Administrative Expenses Ratio =

x100
Net Sales 1
. . . Financial Expenses

; — 5%
(v) Financial Expenses Ratio Net Scles 100 N

- o . . Non-Operating Expenses

N . = X

(Vi) Non-Operating Expenses Ratio et Sale 100
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5. Vg U @9 U™ (Net Operating Profit Ratio)—3q
mmmﬁmﬁlﬁ?mmvﬁamwwwmﬁm
qE WY S AT F ] T HT ¢ | T A Q aeg et e 6t
W AT GRTE G e A Y o ? 7T Y IR o
A F AT et & A A sy ) whufiw w9 e
STl & | e S (e sife B &, e Ft Sareres see st @
grrﬂasaﬁﬁ%lzwﬁwmoﬁﬁvﬁamm@rwﬁﬁwm

| g &Y §— . |

Operating Profit
Net Sales

X 100

' Operating Profit Ratio =

(II) 95t ¢ snenfid enverasa eIt -
1. 9&a fafafem ‘iﬁ"t W 9A™ (Return on Gross Capital Employ ed)
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Net Profit before interest and tax . 409
Gross Capital Employed (Total Assets)

2. ﬂ:‘éf&ﬁﬁlﬁiﬁ YSt W WA (Return on Net Capital Employed) ™
T |

. Net Profit before interest and tax % 100
Net Capital Employed

3. Tl @ g1 fafaife §oft @ Y& (Return on Proprietor’s Net
Capital Employed)— ‘ T
'@'—— ;

_ Net Profit after interest and tax - % 100
Proprietor’s Net Capital Employed
(II1) 39 W Afa AEEEAT H S A AT I
(1) ¥f&@ 39 3A (Earning per Share - EPS)—3¥ @ & &
frafafed 93 &1 S8 fear ST 8 — '
- Earning available to Equity Shareholders

(Net Profit after tax, interest and preference dividend)
E.PS. = r ,
No. of Equity Shares |

TY-E-g ST ¥ FEA ¥ ST @ qod ot Sa & ifEs A qdn el
S € ST ¥ St ot F T T € | |
(2) 3 YA I (Earning Yield Ratio—E.Y.R.) — & {41 Sfq
39 3 3 ST ST T T T © |
o . YERS, |
lhming Yield Ratio = Market Price per share
*(3) fa 31 e (Dividend per Share —D.PS.)—% fafd asivl
%ﬁmﬁﬁmﬁﬁmﬂm%ﬁmaﬁﬁmmaﬁqﬁ 3 T
| 1 |
- RO

X 100

. ' B Dividend for Equity Shareholders
Dividend per Share = Number of Equity Shares
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H
4 ST (Pay-out Ratio or PO.R.) — ¥ 3T A T J1q
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ufer |t 3ivr THieT
T S = "o ot U
Dividend per Equity Share
Earning per Share
(5) NIV WO U (Dividend Yield Ratio) —
AT - |

X 100

% 100

Pay—out Ratio =

vVividend per Share % 100
Market Price per Share
(6) STV FR (Dividend Cover) — I8 3q9Td 39 1d T I AT 2
f s 3w @reiyr &t g & 9 oW 3 (Earning) fFat T 2 1 39
I FI N9 37 3 (E.PS.) & w4 37 aT9i¥ (D.PS.) I 5T I I
fergT ST ® | ., | |
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(Dividend Yield Ratio (D.X.R.) =

E.ES.
D.ES.

(7) 937 e AAd (Price Earning Ratio-P/E Ratio) — 98 3J9Id
Y F FER oI 91 q(q 39 36 G F 7 I I 9 Ty ) T

A2 |

Dividend Cover =

.. Market Price per Share (M. P.S.)
P/E Ratlg = Earning per Share (E. P S.)

(3) USTt EET IO AT SR e ST fagersr

~ (Capital Structure Ratios or Long-term Solvency Analysis)

1. 0 GHAT JA9E (Debt Equity Ratio)—%9 §9aT U 3¥uiay
F FIY S e BT F A GE NS T @ | FE ST AT FH 2,
FOTare i feafa ot @ aife QU |t | 9 oua e aifess &
SHERT @1 SfEw ot At @ e A | RO WA S 6 ey W2 1
T ST 8 | %9 94l 3 g U 1: 1 & 3faa W S € | 39 S

U ot AR St Tt 2— |
Long-term Debt

| Debt-Equity Ratib = Equity (Shareholders’ Funds)
x5 A T
_External/Outsiders Funds
Equity (Shareholders’ Funds)




& @R U@ (Proprictary Ratio) 78 arqard Wﬁﬂﬁ F :Tg‘ any
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Pronrietary Ratlo = Sharcholders’ Fund
roprietary Ratfo = Total Real Assets

3. W FAA AU (Solvency Ratio or Dcbt to Total Assets
Ratio) — 58 J9R ¥ T§ 91T W JF Al & i FAt @l H 944 73
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Total Qutside Liabilities
Total Assets
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4. T @O YR (Fixed Assets Ratio)—3¢€ Tt gt
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i ) Net Fixed Assets ,
Fixed Assets Ratio = (Shareholders’ Funds + Long-term Liabilities

5. %O ¥ IqIE (Debt Service Ratig%—%F T F S AW
99 (Interest Coverage Ratio) & aH q YT STl 2 39 39 3
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Solvency Ratio =

Net Profit before Interest and Tax

Debt Service Ratio =

Fixed Interest Charges .
7 ST FUCH F S A YT H A A N TR o 8
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feardr HoreTars o fed &1 gaeh |
Tlustration 1. (i) &80 T —Akg A 5,000 T TR 10,000 FC
@ 6,000 T JHEH 54 2,000 TG AT A 4,000 TG | qwe werwd
e Iz | \
a7e guifeal = g A + TR + A YW -

= 5,000 + 10,000 + 4,000 = 19,000 ¥JT



(ii) R o Tt 70,000 wyu ¥ ud g A gl 1,00,000 590 7

a‘rmaﬁuﬁr‘dﬁml -

= 1 m 000 — 70,000 = 30,000 &Y
(i) I AFT 20,000 FIG TR 1,50,000 T VI 3,50,000 9T o

mnmﬁﬁuﬁrml
T gl = 3 + SRR

= 20,000 + 1,50,000 = 1,70,000 ¥Y

(n)aféarﬁmzﬁmnmom% ik U AT ) 1T 75,000 BT 2,
S STV 5,000 TR, F 82,000 TIT R 1) AR Tefeg i e A475T |

¥ gu i S oW = YRS @fe + #a — afan wian
s Efea = 5 gu o &t arm + it @iaar — &4
- = 75,000 + 53,400 — 82,000 = 46,400 ¥TT
(v) T SRS Tlear 15,000 T9C 8, 564 40,000 ¥9C 2, Faskar &1t @mra
52,000 TIT 2 T9T T 57,000 ¥TT 2 A Febek T TR AT 2
. TEd o = fawg — fasa 6 arm
= 57,000 — 52,000 = 5,000 ¥IT -
(w)wf‘agrvrﬁﬁ1mooommm%ﬁmsooomaﬁqm

20,000 ¥TT A1 FFE fosha
T foma = méﬁan+§afaaﬁ aifm Yt
= 15,000 + 1,00,000 — 20,000 = 95,000 ¥IT
(m)aﬁ:ﬁ?snmaﬁm%oomﬁmwzmomaﬁrﬁm

BTN N YE AT FMET 2
g a = fawa — (ﬁ%maﬁm+ TR =19)

= 13,000 — (9,500 + 2,700) = 800 ¥
(m)wﬁqaaﬁsooom%mmmsoom%wﬁm
25,000 TYT & A HaheT N T B 2
| WA Y = WA 7 — Y[E A
= 14,500 — 5,000 = 9,500 ¥T

Mustration 2. (i) TF% 15,000 FTT, T4 35,000 T, fafrir (remd)
;?GO%JFG;T SR 32,000 TT 4T T arfyfa 13000m?har131§‘ﬂ?!

*_mqmﬁuf(ﬁars+m+ﬁrﬁ&mm)’
I = T ey e (e + e )
' _ 15,000 + 35,000 + 10,000 _ 60,000 _ .33 1
32,000 + 13,000 T 45,000




(if) IR T 10,000 w9, F3 00,000 F90, ¥ @A 50,000 FC W A
JTE FA RN |
aT wwfie (e 4 #)
W e (% W)
_ 10,000 + 90,000 _ 1,00,000 _

) % e _&;‘5%000 - ;0000 .a:ra’lﬁvrm
i 4. aifyt & 12,000 T .A
(i -@m%m 1 EIGH 1

| Wt

Tt

] W = 9] A X AR e
=4 X 12,000 = 48,000 *UQ

(iv) FEIE T 60,000 TUC, Fe T 1,30,000 T, AT =W
1,ooooommzsooomﬁﬁmsooomﬁrarqmﬂ€m ?

] A = For — eI W
= 1,30,000 — 1,00,000 = 30,000 ¥
FTAVIS Goit = |Te] weafvat — ] e
T At = Sy Yo + 91 e
= 60,000 + 30,000 = 90,000 ¥IT
_ T w9000
= = ] it 30,()00"371
(v) e =@ FER 10,00,000 T 3T = SRI 5,00,000 T A
@M 39T (Quick Ratio) | | |
| ARa WA 10,00,000

R = e 500000 2L

vi) afe wfazoooaom%aﬁrﬁmﬁr 5
féﬁ)m}ﬁ EEEE G
faa

Fd g mﬁ p—— |
e fareht = et waafer X T T s
= 2,00,000 X 2 = 4,00,000 ¥IC .
(vii) 3fg |eFe a9 2,00,000 FIC, & a5 5,60,000 FIC A qeret @w
S Brm— e . |
Gross Profit Ratio = ":ﬁl’;{:’?t X 100

~2,00,000
=~ 5,60, OOO

Y TR =

X 100 = 35-7%



(vili) I YK TV 80,000 YT, YLK FFA 560,000 FHE AL B

. 39 B—

Net Proﬁ_t_. % 100

Net Sales
= 80000 o 100 = 14-3%
~ 5,60,000

(ix) E YL T 20,000 T, ﬁmuﬁrsooooo e feet
ST BT—

Net Profit Ratio =

Net Profit
th Sales

! 20,000
.._._L____
6OOOOOX1OO 3:33%

(x) zrﬁ:ﬂaﬁmwooooomgﬁwﬁmsooooomﬂ’fﬁ
T 3Ed IEUE em—

Total Assets Turnover =

Net Profit Ratio = x 100

Net Sales
Total Assets
_ 10,00,000
.~ 5,00,000 |
- (n)smﬁwmsoooom '3 W 1,00,000 ¥9C, 3 T A F
m%oooommalﬁﬁmafrﬁm

Stock Turnover Ratio = Cost of Goods Sold
| Average Stock

3,60,000

= ~i—2— = 4 Times |

"~ 90,000
Average Stock = O.S. + C.S. + 2 = 80,000 + 1,00,000 + 2 = 90,000
(xn)uﬁa&aﬁmﬁﬂaﬁsooooomwmmoooom%ﬁr
s aget s@rg Bt 2
'Debtors

Average Collection Period = m-x 3654»

1,00,000
e S -
5,00,000 ¢ 36° =73 days

(xiii) aﬁaaaqa?aﬁfﬁﬁﬁa%lﬁmssooooméﬂ?ﬁaﬁm
T4 HIT | FTETITA 7 360 AT |

Debtors =

= 2 Times

Average Collection Period X Net Sales

. 360
45 % 8,80,000 RSt \
- rlanaliuck — 0
360 Rs. 1,10,00

(mv)ﬂﬁaﬁﬂawmmzm%ﬁrmamm—
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i’msooommﬁqmooomaéaﬂsmﬁmmooom
Wﬁ' 6,000 ¥ | e § 3t arqa*rararmsrmaﬁm
Debtors -+ B/R % 12
Net Credit Sales
| 24000
Hlustration 3. (i) 9T 3 21maﬂm151ﬂﬁﬂf’m
5,00,000 ¥, Eham anad 3 7 S A Wﬁ%ﬁmmml

o1 wfvEt = | aife X =
= 6,00,000 X 2 = 12,00,000 ¥9C
T fEt = o] qfed X O A
= 6,00,000 X 1-5 = 9,00,000 ¥IC
WY = e gufvat — e gt
= 12,00,000 — 9,00,000 = 3,00,000 ¥IY
Cost of Goods Sold

Average Stock
Cost of Goods Sold = Stock Turnover Ratio X Average Stock

= 3 x 3,00,000 = 9,00,000 *9T

%‘3 or<ft 1€ S 3,000; P TR 80 FYQ T FHS; T T 65 I
qua}mmm| |
ferma = 3,000 x 80 = 2,40,000 Y

= 3,000 X 65 = 1,95,000 T
q&d Y = fasa — &@R[@ = 2,40,000 — 1,95,000 = 45,000 ¥IT

T I = e ¢ 100 = 9000 100 = 18-75%
o 240000
(i) T A F AT 9 = 1,00,000 T, WA H FE = 2,00,000
feq omg = 1200000m|EPsmﬁﬁn
— WW%WW 1,00,000
JaasrEEn 2,00,000
(lv)qﬁqﬁrammm_ 100 ¥9C TF Hfq amansrrrtlw_ 1,000 ¥

Average Collection Period =

+ Stock Turnover Ratio =

= Rs.0-50

21 A STy AfRe ST 1 hifeg |
___ Dividend per Share
Dividend Yield Ratio = Market Price per Share x 100
' 100
1 000 X 100 = 10%
(v) 4 PAT = 2,70,000 ¥, qaifereT ST 30,000 TC, THAT 39 #
FET = 80,000 A A 3 aﬁh (EPS) I SIS |



g  PAT — TR AT 2,70,000 = 30,000 _ g 4
AT 3 e 80,000
 (vi) € EBIT = 46,000 ¥ ud aitea fafraifea g5t = 3,40,000 ¥
2 3 Fraferd {of TN 1 ey S |
PR R W TR R = -W_EBET 10
= 3%?880 x 100 = 13-53%
(vii) TFE FT F T AW (PAT) = 20,000 T TF HHAT IS = 2,00,000 .
FYU A @H TS T T 14 HIT | r
@ I W YA = g;a‘?%xloo |
=2—?(())-6(”(()).-700x'100= 10%
(vili) =TS] Y@ 2-7, @RI AGIE (Quick Ratio) 1-8, T A
6,00,000 TIT TF Y a4 = 4 7T | faehit J1a Fifsr | *'
T = A A X (S I — i )
 =6,00,000 X (2-7 — 1-8) = 5,40,000 ¥IT
fadl = @a X &9 AEd o
= 5,40,000 X 4 = 21,60,000 €T o
(ix) T W 3% 3 (EPS) 10 T & T 5 377 AR 4 120 T 8
l Y& 3 U (Price Earning Ratio) 14 HfoY | ;

. _ Market Price Per Share _ 120 C m o
P/E Ratio = EPS =30 = 12:1

(x) ST TR AT = 25 T, M A AF = 100 FC | YA N
T4 T | | s

DPS 25

Pay-out Ratio = e X 100 = 705 X 100 = 25%
(i) AfE FE F YEA FITT 60% & A FHR MG 3
(Retention Ratio) 1d SIT9T | : ‘

- yfqgRoT AR = 100 — FAH A = 100 — 60 = 40%
(xii) T 19 = 1,00,000 T, THH 3T = 20%, T T A1 i
Tfer 31a Fif | |
. wfETOr ST = 100 — YR JTIE = 100 — 20 = 80%
Ah T T F1 I = Y TN x e Sryum
= 1,00,000 X 80% = 80,000 ¥qT



